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51 M0 OREFEPT

1. d(InGDP - InKg) ; AR

obs 1457
R2C 0.24
HESTHARS  1981-2011
2014 F EHfEFHER
ki3 tfE
Constant 0.003 1.360
d(InKp - InKg)
—EHE 1T B 0398 10462 e
d(InL - InKg)
SRMET B 16T D, 0.546 12471 |xkx
Okidum* d(InKp = InKg) -0.074 -0.289
Okidum-d(InL = InKg) 0.107 0.716
DLS -0.005 -1.872 |*

(&%) 1 WKETHE. #*+: 5WKETHE. x: 100KETHE., LLTRL,

2. Cpn/Yzfk; HELLER

obs 1457
R2C 0.97
HEEHHART  [1981-2011

2014 FEHFEFER
EES tfiE

da1980s 4.834 13.857 |#**
4.385 14.485 |*%x
4.312 14.377 |*x*

4.503 14.368 |***
4.223 14.317 |*x*

4184 14.168 |tk
4.371 14.210 |tk

4227 14.171 [k
4.091 14.080 |kokok

4.069 14.216 |tk
4.707 14.293 |xxk

4622 14.279 |dokk
4.863 14.089 |okok

4.802 14.301 [*x%
4.459 14.275 |xxk

4.037 13.588 |dokk
4.164 13.942 [#kk

3.918 13.582 |k
3.698 13.924 |k
4.088 13.875 |k
4215 14.077 |k
4.464 14.142 |tk
4.741 14.163 |k
4.108 13.924 |kokok
3.922 13.579 |k
4.229 13.780 |k

4.793 13.913 [*xk

4.443 13.775 |kokok

Oldrate*da1980s 3.719 3.655 |*x*

3.786 7.629 |Hokok
6.903 9.748 [*x%
5.130 7.129 |*x*
5.595 7.699 [Fxk
6.623 8.816 |*xx
4.684 7.723 [kxk
4.159 6.273 |Hokok
3.963 6.887 [*¥*
7.516 4.251 |®xk
d(Oldrate)*da1980s —10.709 —2.919 [¥x¥%
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hE S il
da1990s 5.296 15.017 [#okx dbimiE
4.790 14.974 |sok* BERR
4.765 14.828 [¥** [TEX]
4.953 14.829 [k EHE
4.710 14.889 |Hokk EAEE
4.696 14.648 |*** Rz e
4.867 14.748 |sokk EESR
4.988 14.602 [kt RyE
4875 14.600 [k HARR
4875 14.655 [*k* BEE
5.297 14.619 [*k* BER
5.259 14.618 [k FzE
5.596 14.899 [k R
5.397 14.637 [¥** HE)IE
4.954 14.731 [sokk Hing
4.760 14.825 [xkx* =LE
4.821 15.025 |#kk BINE
4.648 14.870 [k EHE
4.639 14.656 [kok IV
4.881 14.557 [%kx EHE
4.834 14551 [wkok I 2
5.073 14.620 [skok el
5.285 14.627 [wkx BB
4.825 14.564 |sk* =
4758 14513 [wkok HEE
5.027 14.737 |sokk RERAE
5.384 14.668 [*kok KIRAF
5.159 14.451 [wokk EESE
4.740 14.445 |sokx ZRE
4.683 14.651 %k FFRLLE
4.522 14.534 |k EmRE
4523 14.338 [kt BiRE
4.909 14.596 [kok fig] 1L IR
5.032 14.637 [sokk LEEE
4.796 14.500 |Hkk wmng
4.595 14.600 [**x EmEIR
4.692 14.573 |sokk FINE
4.789 14.615 [xk* BIEE
4.600 14.678 |k SIS
5.174 14.813 |dokk B2
4571 14.761 |k HEEE
4.796 14.920 [xkok RiFE
4.854 14.855 [kt N
4.749 14.872 [%kx AHE
4.700 14.869 [xkk EiFE
4.860 14.891 [xk* EREE
4.623 14.870 %% s IE
Oldrate*da1990s -0.120 -0.691 dLimiE
0.397 3.629 |sokk it
0.494 4.210 |Hokxk ESES
0.237 1.723 |* Eld >
0.552 4.500 [*kx thif
0.448 3.489 |fokk plig >
0.348 2.389 [x* FE
0.430 2.932 [¥x* P E
0.374 2.853 [kt Su
1.017 3.647 [wkok i
d(Oldrate)*da1990s -0.576 -0.476
RMedAD 0.019 0.165
Cpn(=1)/Yzfk(-1) 0.611 37.288 [#¥x
In(Yzfk) -0.299 | -13.789 [k
d(ctax) -0.609 —-4.100 [#¥*
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3. Ip/Kp(-1); RFEAEERFERE

obs 1034
R2C 0.91
(#5299 [1990-2011
014FEHTFHR
E3 il
Constant -0.017 -1.169 dtimE
-0.026 -2.413|%% EHER
-0.036 -2.102|%% EFR
-0.039 -3.665 | EHE
-0.051 -3.390 |k MEE
-0.044 -2.631 |k iz 18
-0.015 -1.784[% EER
-0.034 —3.748 %% FIRR
-0.044 -4.046 %% HARE
-0.037 -3.155 |k HES
-0.033 -3.766 |##* BEE
-0.022 -2.779 sk FEE
-0.026 -2.798 |k HE
-0.026 -2.603 |k #wENE
-0.023 -2.437 |** HBE
-0.042 -3.814 [%kx BILE
-0.050 —4.412 %% ae
-0.059 -5.832 |k =HE
-0.020 -2.194|%% I
-0.073 -3.716 |k ERE
-0.023 -2.441 %% I 28
-0.041 -3.780 |k FmE
-0.047 -4.590 |k Z41E
-0.018 -1.987 %% ZER
-0.021 -1.670[* HER
-0.035 -3.383 ok REBRE
-0.025 -3.358 kkx ABRAF
-0.020 -2.407 [¥x REER
-0.025 -3.004 % ZRE
-0.047 -2.634 fkx FILE
-0.022 -2.109 #* B
-0.024 -1.938% BRE
-0.033 -2.446|¥x FE LS
—0.057 -5.304 %% LB&
-0.048 -3.262 %% wog
-0.029 -1.519 BER
-0.041 =3.177 #kx FINR
-0.019 -1.844% g
-0.027 -2.130*x BEIE
-0.045 -3.609 [k EEE
-0.005 -0.629 EER
-0018 -1.651* RIFE
-0.034 -3.596 |##* BEAE
-0.007 -0.752 AR
-0.062 -3.024 %#x iR
-0.022 -2.419 %% ERER
-0.029 -1.837% baki 1= 3
db 0.000 -0.091 JtimiE
-0.009 -3.007 % EHE
-0.003 -1.243 AFE
-0.009 —3.417 ko BEHRE
-0.001 -0.461 AR
-0.005 -1.662[% iz 2
-0.003 -1.041 EER
-0.006 -2.017|%* RRE
-0.005 -1.763[* HARR
-0.005 -1.707[* HER
-0.010 -3.357 |#kk BEE |
-0.008 -2.457 |xx FEE |
-0.008 -2.857 |k b4
-0.004 -1.591 EcEINNY
-0.006 -2.191 |%* e |
-0.007 -2.218|%* =g |
-0.004 -1.433 aNE |
-0.016 -5.357 |k =
-0.007 -2.429|%x MET-1
-0.002 -0.649 RHE
-0.004 -1.597 IR IR
-0.006 -2.162|%% AR
-0013 -4.730 %k B41E
-0.004 -1.361 =58
-0.003 -1.091 HER
-0.008 -2.675 %%k SUEAT
-0.008 -2.859 |k KERFF
-0.003 -1.023 EER
-0.003 -0.919 =RE
0.004 1.275 EEIY
-0.006 -2.086 %% BIR
-0.004 -1.362 BIRR
-0.005 -1.587 FE LR
-0.010 -3.413 |k L5E
-0.002 -0.871 wng
0.001 0.420 BER
-0.003 -1.184 ENIE
-0.005 -1.787[* ZIER
-0.005 -1.706[* BHE
-0.007 -2.327 |** il
-0.002 -0.807 ERE
-0.005 -1.700[* RIgE
-0.008 -2.574 %% AR
-0.008 -2.784 |%kx KB
0.003 1.072 BIFR
-0.006 -2.077 |** ERSE
-0.003 -1.162 Pk 1)
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2014 EHTERRE

Kpprod 0.202 2.832 %% JbigE
0.321 5.549 |%¥* BAR
0.356 3.522 [ %kk [TESE]
0.362 6.401 %% EEHE
0.448 5.262 [x+x FEE
0.432 4.322 %k w8
0.288 4.840 |k EE5R
0.380 6.594 |*** KR
0.421 6.404 | *** HAR
0.365 5.322 4% BER
0.286 6.882 [*xx BEE
0.270 6.041 5% FzE
0.212 5.865 ¥ RIRER
0.274 5.281 [sokx )
0.297 5.226 | *¥* Fing
0.410 5.846 ¥+ EWLE
0.382 6.820 [*** alE
0.560 8.061 ¥ BHE
0.258 5.432 sk TRy
0.574 5.008 | *+** EHE
0.269 5.101 [k I 218
0.385 6.035 | ¥* BRREIR
0.461 7.539 [¥xx EHE
0.338 5.134 [%%* ZER
0.278 3.637 [Hokk HEE
0.292 6.030 [#kx SRERRT
0.275 7.119 [k b
0.294 6.331%** EBEE
0.245 6.202 5% ZRE
0.457 3.944 |%¥* LS
0.255 4.685 | %** ERE
0.277 3.859 [Hokk BiRE
0.349 4.058 |sokk A LR
0.569 8.547 %ok LE5R
0513 4.645 ¥ wog
0.316 2.811 [k EER
0.376 5.128 [¥%x FINE
0.267 4.375|*%x ZiEE
0.269 4.182 %ok BHE
0.373 5.764 %% 1B E
0.192 3.821 [k EBR
0.260 4.248 |5ok% RIGE
0.337 6.725 |*¥** REARE
0.239 4,065 ¥ RHE
0.494 4.278 |%*x EiFE
0.249 5.399 |*kok BERSE
0.256 3.859 %k B

EVD -0.0013 -0.487 iEE
0.000 0.525 ik
0.002 2.401 [** ESES
0.007 4.181 %% Eld >
0.003 2.328 % aak:i
0.003 2.806 |*kok bk 3
0.004 3.183 %k thE
0.004 2.588 | xkok juz]es|
0.003 2.714|%*x b
0.001 0.344 plisk

din(GDP) 0.036 5.767 [+

LRATE/100-@pch(PGDP) -0.079 -5.331 [%*x

Ip(=1)/Kp(=2) 0.551 25.277 |**xx
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4. NetExp; flifgH A

obs 470
R2C 1.00
HEETAAR 12002-2011
2014 EHTERE
£ i
Constant -186374 -0.047 A
-556111 -0.359 AR
-487353 -0.316 EFR
-627770 -0.406 =R
-534760 -0.346 MEE
-459148 -0.297 i
-473893 -0.309 EESR
-2069177 -1.185 IR
-2026342 -1.164 HARR
-1950441 -1.120 HER
-3314470 -1.864/* BER
-2740126 -1.553 FEER
4541497 1.433 RIER
-3099107 -1.740 (% #HEINE
-508494 -0.330 Hing
704208 0.300 =g
641520 0.273 BINE
712022 0.303 BHE
-2159645 -1.243 WEE
-590427 -0.265 RHEE
-655615 -0.294 I B IR
-393938 -0.179 EdRily
112292 0.051 FHE
-704519 -0.316 =58
-522355 -0.307 HER
-737974 -0.430 SRERAT
304060 0.184 KBRAF
-730222 -0.429 EER
-833245 -0.483 =RE
-759681 -0.443 LR
-259681 -0.142 SmE
-247653 -0.135 BiRE
-213767 -0.117 LS
-35253 -0.019 LE52
-88273 -0.048 g
-18309 -0.009 EESR
52486 0.026 FIIR
-226655 -0.114 EREE
-214575 -0.108 BHE
-318049 -0.217 a1
-418565 -0.286 EEE
-448928 -0.306 RIGE
-484920 -0.331 RERE
-404188 -0.276 AHE
-558847 -0.381 =iFR
-570844 -0.389 ERBE
-450641 -0.111 R
WORLDMP*REXRATE 0.101 0.231 deifmE
-0.097 -0.579 wit
-0.164 -1.114 ESES
0.121 0.481 JLkE
-0.330 -1.552 hEp
0.055 0.300 plin 3
0.164 0.841 FE
0.183 0.846 jus]ES|
0.163 1.033 Fu
0.193 0.448 bk
GDPP(-1)-
(GDP(1)-NETEXP(-1)) 0203 2540
GDPALLREG(-1)- -0.001 -0.069 deifmE
NETEXPALLREG(-1) 0.001 0.341 ®’it
0.007 1.283 ESES
-0.001 -0.298 JLkE
0.003 0.467 hEp
0.001 0.354 plin 3
0.000 0.027 FE
0.000 -0.070 jus]ES|
0.001 0.164 Fuim
0.000 0.023 blsk
NETEXP(-1) 0.569 9.414 [%*x
DLS -174028 ~4.563 %%
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5. Kp; REIEEREXRRMY

obs 1457
R2C 1.00
HEETHARS [1981-2011
2014 FEHTERE
mH [ dE
Lo, 0.046 | 105.610 [+
MHEET
Kp = (1-8 1) * Kp(-1) + Ip * Ip05to00
6. Kg; HEREARRbYY
obs 1457
R2C 1.00
HEETHART [1981-2011
2014 EHTERE
=% | dE
[s, 0019 | 72.231 [%*x
XHEET
Kg=(1-8,) * Kg(-1) + Ig
7. dn(PGDP); GDPTJL—4
obs 1410
R2C 0.47
HESTHARG [1982-2011
2014 FEEHTFRER
RE HiE
Constant -0.339 —13.779 [**x*
GDP(-1)/GDPP(-1) 0.350 13.718 [#kx
din(YWH(=1)/GDPN(-1)) 0.088 6.276 |*k*
din(PGDP(-1)) 0.507 27.164 |*x*
D(CTAX) 0.616 10.396 [#**
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8. ER; MEXR

obs 1363
R2C 0.99
HEETEARY  [1983-2011
0145 EHTEHRE
3 tiE
Constant -0.094 -8.568[#*x dtiEE
-0.089 —8.254[%xx EHE
-0.085 -8.063|+*x [TESE]
-0.092 -8.490 |*** ER L]
-0.087 —8.191 |**x MHEE
-0.085 —8.075[#*x W8
-0.089 -8.398[#*x EEE
-0.091 —8.394 [**x RPE
-0.089 -8.308 [*x*x AR
-0.088 —8.249 |*x HEE
-0.099 —-8.698 [x*x BEE
-0.099 -8.763|**x TER
-0.084 ~7.836|%*x Et
-0.099 —8.771 [**x #HE)IE
-0.087 -8.236|%** e
-0.086 -8.130|*x =E
-0.087 -8.137 [#x*x ANIIE
-0.085 —8.043 [*** =mHE
-0.088 -8.203 |*** [T
-0.084 —8.004 [*x*x EHE
-0.089 —8.270[*xx Ik B I8
-0.086 -8.083|+*x a7 12
-0.086 -8.021 [**x ZHE
-0.089 —8.294 [**x =58
-0.089 —8.266 [*+x HEE
-0.095 -8.660|+*x HEFF
-0.093 -8.559 [#*x KR AT
-0.094 -8.551 |** EEE
-0.100 —8.745[**x ZRE
-0.089 -8.263 |*** ML
-0.085 —8.069 [**x EHRE
-0.084 —-7.962 [*%* EiRE
-0.088 -8.270|%*x ]
-0.089 —8.296 |*x LEE
-0.088 -8.305 |*** wog
-0.088 -8.243[**x EER
-0.088 -8.242|%*x FIIE
-0.087 -8.190|**x FIEE
-0.089 -8.312|**x =40E
-0.091 -8.363[**x 1= 2
-0.085 ~7.991 [#%x HEER
-0.087 -8.107 [#x*x RIS
-0.087 —8.129 [#xx REARE
-0.088 —8.224 [**x AR E
-0.087 —8.128[#xx =GR
-0.087 -8.133 k% EREE
-0.089 -8.156|%*x g Ie
GDP(-1)/GDPP(-1) 0.053 5.491 |4k
(P1519+P2064)/POP 0.103 7.279 k%%
ER(-1) 0.944 96.577 |%**
PDLO1 0.011 1.604
PDLO02 0.010 1.028
T—EUST DR DEGREE=1 __ S.C=N E.C=N
20145 EHTEHRE
@pch(W)-@pch(PGDP)| &3k il
1 (RTHED) 0.011 1.604
2 (2HA8) 0.021 3.057 |k
&t 0.032 3.195 [**x
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9. @pch(W); — A&H71=YE A& RN

obs 1410
R2C 0.42
5t HAR [1982-2011
014EEHTER
®¥ il
Constant -0.011 —2.113 |**
|@pch(PGDP) 0.601 16.346 [+kx
ER 0.031 3.623 |**x
[@pch(W(-1)) 0.240 9.879 [#*x
10. din(ZAISAN); BAZEFRS
obs 1457
R2C 0.27
[#EtHAR [1981-2011
014EEHTRE
31 il
din(GDPN) 1.274 21.289 [H#x
}E(LRATE) 0.060 13.879 [k
11. LRATE/100; #t{&E/EFEREFIEY
obs 1410
R2C 0.73
[#:tHARS  [1982-2011
014FEEHTERHR
E3 i
Constant -0.118 —6.198|%*x* JbiEE
-0.120 -6.274[ %k EHRE
-0.119 -6.270[%kx &FE
-0.117 —6.192[%*x EHE
-0.117 —6.105 |k AR
-0.112 -5.892%kx W E
-0.115 -6.073[%kx EER
-0.114 -6.079 %k TR
-0.113 —6.020 [k EARR
-0.114 —6.033[#kx BHER
-0.117 —6.172 k% BER
-0.113 —6.024 [x*x FER
-0.114 ~6.096 |k HEH
-0.114 ~6.056 [*** EE NI
-0.118 —6.165 %k gEE
-0.115 —6.083[#kx =g
-0.117 —6.131 [k BNE
-0.116 —6.111[%kx EHE
-0.119 —6.248 [*kx WERE
-0.112 -5.887[*kx E&RE
-0.117 —6.175 [*kk I IR
-0.114 -6.061 [k fidrilod
-0.112 —5.982 [k BHE
-0.114 -6.076[*kx =EE8
-0.112 -5.964 |**x HER
-0.115 -6.060 |k AR
-0.116 —6.157 [k N
-0.115 -6.091 [**x EER
-0.115 -6.052 %k =RE
-0.122 —6.494 %k FNFLE
-0.117 —6.132 |k BmE
-0.121 -6.352 %k BiRE
-0.115 -6.090 %k e
-0.113 -5.969[#kx N1
-0.114 —6.074[ %k wog
-0.121 —6.382|%*x mEE
-0.118 ~6.246 [ x** IS
-0.116 —6.141 [k BIER
-0.120 -6.239[%kx =HE
-0.112 -5.913 |k 1B
-0.119 —6.241 [k EBER
-0.118 -6.192[%kx Ei5E
-0.117 —6.125 [kk AR
-0.119 —6.305 [xkok ADR
-0.118 -6.192[%kx IS E
-0.118 —6.195[#kx ERSE
-0.123 —6.394 %k PR
GDP/GDPP 0.153 7.837 [x*
PDLO1 0.526 26.996 |*#x
PDL02 -0.005 -0.157
T—EVSTON DEGREE=1 _ S.C=N EC=N
014FFHTEHE
@pch(PGDP)| &% +E
0 () 0.526 26.996 [Hkk
1 (RTHA) 0.521 28.466 |kx
EHy 1.047 60.184 [*£x
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